DS FERFHIERAR—VHRERTFREX

[ FR—L]

A = =5 R R
. 4,11,14,18,21, 25,28 B| ™ThER&EHE 18:00~20 : 00
1 =] IEAEE 18:00~20 : 00
5 9,12, 16,19, 23, 30 B| ™WR&EHE 18:00~20 : 00
2,26 B| MmEKEE 18:00~20 : 00
; 6,9, 13,16, 20, 23,27, 30 B| ™WR&EHE 18:00~20 : 00
2 =] IEAEE 18:00~20 : 00
7 4,7,11,14,18,21, 25, 28 B| ™WR&EHE 18:00~20 : 00
8 1,4,8,18, 22, 25,29 B| MhWREHE 18:00~20 : 00
. 1,5,8,12,19,22, 26 B| ™WR&EHE 18:00~20 : 00
15,29 B| MmEKEE 18:00~20 : 00
10 3,6,10,13,17,20,24,27.31 H| WEHKEE 18:00~20 : 00
i 10 H| WEAEE 18:00~20 : 00
7,14,17,21,24, 28 B| mEKEE 18:00~20 : 00
" 1,8,15 B| MhWER&EHE 18:00~20 : 00
512,19, 22 B| mEKEE 18:00~20 : 00
1 5,19, 26 H| WEAEE 18:00~20 : 00
9,16,23,30 B| mEKEE 18:00~20 : 00
) 2,9,16 H| WEAEE 18:00~20 : 00
6,13, 20, 27 B| MmEKEE 18:00~20 : 00
5 1,8,15,22, 29 B| MhWER&EHE 18:00~20 : 00
5,12,19,26 B| MmEKEE 18:00~20 : 00

ZEH

12 25, 26 TREHELE 9:00~12 : 00
1 12 TRG#HE 18:00~20 : 00




